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QUESTION 1

An administrator creates a shortcut that points to an invoice report. What happens if the invoice report is renamed?
A. The shortcut contains the original name and can be used to view the latest output before the report was renamed.
B. The shortcut contains the original name and no longer works because the link to the report is broken.

C. IBM Cognos Connection automatically updates the report name in the shortcut, and the shortcut remains fully
functional.

D. IBM Cognos Connection automatically deletes the shortcut.

Correct Answer: B

QUESTION 2

Which statement describes IBM Cognos Bl architecture?

A. Communication between components is SOAP on HTTP Protocol.

B. The BIBus is the communication tier of the IBM Cognos Bl architecture.

C. The two-tiered architecture is component based and typically separated by firewalls.

D. The content manager consists of a set of protocols governing communication among IBM Cognos Blservices.

Correct Answer: A

QUESTION 3

After the installation of IBM Cognos BI, what must be done to ensure that only select users have unrestrictedaccess to
Public Folders in IBM Cognos Connection?

A. Add the Anonymous user to the Directory Administrators role.

B. Remove the Everyone group from the Server Administrators role.

C. Remove the Everyone group from the System Administrators role.

D. Remove the All Authenticated Users group from the Directory Administrators role.

Correct Answer: C

QUESTION 4
Which statement is true about the definition of the Application tier?

A. The Application tier hosts the dispatcher and content manager that reside in a servlet container.

C2090-622 VCE Dumps | C2090-622 Practice Test | C2090-622 Exam Questions 2/3


https://www.pass4itsure.com/c2090-622.html
https://www.pass4itsure.com/c2090-622.html
https://www.pass4itsure.com/c2090-622.html

VCE & PDF https://www.pass4itsure.com/c2090-622.html
a 2024 Latest passditsure C2090-622 PDF and VCE dumps Download
== / PassditSure.com

B. The Application tier hoststhe dispatcher, which includes the IBM Cognos Application Firewall and Access Manager.
C. The Application tier hosts the Bl server and the content store.

D. The Application tier hosts the content manager, which contains data such as a report specification,IBM Cognos
namespace, and so on.

Correct Answer: B

Below is a partial diagram of the processing that occurs when a user launches saved output in IBM Cognos Connection
and views it in IBM Cognos Viewer.

Content
Manager

v

Gateway Dispatcher

At the level of the dispatcher, which of the IBM Cognos BI services is used to process the request?
A. Report service

B. Presentation service

C. Batch report service

D. Delivery service

QUESTION 5

Computer 1 is set up as a gateway.Computer 2 is set up as a report server. Computer 3 is set up as a report server.
Computer 4 is set up as a content manager. When configuring, why must the administrator configure and start services
for the machine hosting the content manager first?

A. To ensure that the Gateway URI property is specified on the content manager computer before the dispatcher is
configured and services started.

B. To ensure that the certificate authority service is available to issue certificates to other computers in the distributed
installation.

C. To ensure that the Bl server can connect to the underlying reporting data sources.

D. To ensure that the Dispatcher URIs for gateway property is specified on the content manger computer before the
dispatcher is configured and services started.

Correct Answer: B
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